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PROBLEMS

16–40.

2005
Income Tax Expense

17,680

Income Taxes Payable


11,520

Deferred Tax Liability—Noncurrent


6,160

Income tax expense: Current (0.40 ( $28,800) + Deferred (0.40 ( $15,400) = $17,680



(Classification Note: The deferred tax liability is classified 

as noncurrent because the underlying receivable, to be 

collected in 2007, is noncurrent as of December 31, 2005.)

2006
Income Tax Expense


8,640

Income Taxes Payable


8,640

($21,600 ( 0.40)

Income Tax Expense


6,640

Deferred Tax Liability—Current


6,640

[($15,400 + $16,600) ( 0.40] – $6,160 = $6,640

Deferred Tax Liability—Noncurrent

6,160

Deferred Tax Liability—Current


6,160

To reclassify deferred tax liability recorded in 2005 

because the underlying receivable is current as of 

December 31, 2006.

2007
Income Tax Expense


21,240

Income Taxes Payable


21,240

($53,100 ( 0.40)

Deferred Tax Liability—Current

12,800

Income Tax Benefit


12,800

($6,640 + $6,160 = $12,800)

The income tax benefit account offsets the income tax expense account.

16–41.

1.
Taxable income

$
1,996,000


Add temporary difference:

Tax depreciation in excess of book depreciation


275,000
Pretax financial income subject to tax

$
2,271,000

Add permanent differences:

Proceeds from life insurance policy


$125,000

Interest revenue on municipal bonds


98,000

223,000
Pretax financial income

$
2,494,000
16–41.
(Concluded)

2.

2005
Income Tax Expense


798,400

Income Taxes Payable


798,400

($1,996,000 ( 0.40)


Income Tax Expense


110,000

Deferred Tax Liability—Noncurrent

110,000

($275,000 ( 0.40)

3.

Tristar Corporation

Partial Income Statement

For the Year Ended December 31, 2005

Income from continuing operations before income taxes

$
2,494,000

Income taxes on continuing operations:

Current provision

$
798,400

Deferred provision


110,000

908,400
Net income



$
1,585,600

16–42.

1.
Income Tax Expense

25,800

Income Taxes Payable


25,800

($64,500 ( 0.40)

Pretax financial income

$
75,000

Nondeductible expenses


30,000

Nontaxable revenues


(12,500)

Gross profit on installment sales


(28,000)

Taxable income

$
64,500
Income Tax Expense

9,300

Deferred Tax Liability—Current


2,160

Deferred Tax Liability—Noncurrent


7,140




Enacted
Taxable
Liability





Rate

Amount
Valuation


2006
36%
$
6,000
$2,160



2007
34

13,500

4,590



2008
30

8,500

2,550




$28,000
$9,300


(Classification Note: The receivable from the installment sale would be classified according to the time of its expected collection. At December 31, 2005, $6,000 would be classified as current and $22,000 as noncurrent. The classification of the deferred tax liability mirrors this split.)

16–42.
(Concluded)

2.
Timpany Motors, Inc.


Partial Income Statement


For the Year Ended December 31, 2005

Income from continuing operations before income taxes

$75,000

Income taxes on continuing operations:

Current provision

$
25,800

Deferred provision



9,300

35,100
Net income



$39,900
16–43.

1.
Income Tax Expense


22,800

Income Taxes Payable





22,800

[(–$15,000 + $55,000 + $20,000) ( 0.38]


Deferred Tax Asset—Current

6,480


Deferred Tax Asset—Noncurrent

17,760

Income Tax Benefit





24,240

The income tax benefit account offsets the income tax expense account.




Enacted
Deductible
Asset





Rate


Amount

Valuation


2006
36%
$18,000
$
6,480



2007
32

33,000

10,560



2008
30

19,000

5,700



2009
30

5,000

1,500




$75,000
$24,240


Because both unearned rent revenue and estimated warranty liability accounts are usually separated into current and noncurrent classifications, the expected reversal dates would be used to separate the $24,240 deferred tax asset into current and noncurrent portions; $6,480 would be classified as current and $17,760 as noncurrent.

2.
Davidson Gasket Inc.


Partial Income Statement


For the Year Ended December 31, 2005

Loss from continuing operations before income taxes




$
(15,000)

Income taxes on continuing operations:

Current provision

$
(22,800)

Deferred benefit


24,240

1,440
Net loss


$
(13,560)

16–43.
(Concluded)

3.
One source of taxable income through which the benefit of the deferred tax asset can be realized is through the NOL carryback provision in the income tax laws. If Davidson has tax losses in the next 2 years, they may be carried back against the $60,000 in 2005 taxable income. Another source of potential taxable income is       income from the sale of appreciated assets. Statement No. 109 stipulates that both positive and negative evidence be considered when determining whether      deferred tax assets will be fully realized and thus whether a valuation allowance is necessary. Examples of negative evidence include unsettled circumstances that might cause a company to report losses in future years.

16–44.

1.
Income Tax Expense ($57,000* ( 0.40)

22,800

Income Taxes Payable


22,800

*$100,000 – $60,000 + $17,000 = $57,000 taxable income

Deferred Tax Asset—Current ($5,000 ( 0.40)

2,000

Deferred Tax Asset—Noncurrent ($12,000 ( 0.40)

4,800

Income Tax Expense

17,200

Deferred Tax Liability—Current ($20,000 ( 0.40)


8,000

Deferred Tax Liability—Noncurrent ($40,000 ( 0.40)


16,000


For disclosure purposes, the current deferred tax asset and liability would be netted against one another, resulting in the reporting of a net current deferred tax liability of $6,000. In addition, the noncurrent deferred tax asset and liability would be netted, resulting in the reporting of a net noncurrent deferred tax liability of $11,200.

2.
Income Tax Expense ($57,000* ( 0.40)

22,800

Income Taxes Payable


22,800

*$100,000 – $60,000 + $17,000 = $57,000 taxable income


Income Tax Expense

17,200


Deferred Tax Asset—Current ($17,000 ( 0.40)

6,800

Deferred Tax Liability—Noncurrent ($60,000 ( 0.40)


24,000


In both (1) and (2), no valuation allowance is needed because 2005 taxable income and the existing taxable temporary differences are sufficient to allow for full realization of the deferred tax assets.

16–46.

1.
Income Tax Expense ($7,000 ( 0.40)

2,800

Income Taxes Payable


2,800

Income Tax Expense ($20,000 ( 0.40)

8,000

Deferred Tax Liability—Noncurrent


8,000

Deferred Tax Asset—Current ($15,000 ( 0.40)

6,000

Income Tax Benefit


6,000

The income tax benefit account offsets the income tax expense account.


The deferred tax liability and the deferred tax asset are not netted against one another on the balance sheet because the liability is noncurrent and the asset is current.

2.
All entries would be the same. If future taxable income is zero, the two sources of taxable income through which the benefit of the deferred tax asset can be realized are the $7,000 taxable income for 2005 through the carryback provisions and the $20,000 in existing taxable temporary differences that will reverse in the future. These two sources are sufficient to realize the entire amount of the deferred tax asset, and no valuation allowance is needed.

16–47.

1.

Before


After


Tax Rate

Tax Rate



Decrease



Decrease

Deferred Tax Liability—Noncurrent
$44,000

$37,400


($110,000 ( 0.40)
($110,000 ( 0.34)

Deferred Tax Liability—Noncurrent ($44,000 – $37,400)

6,600

Income Tax Benefit—Rate Change


6,600

2.

Before

After


Tax Rate

Tax Rate



Increase



Increase

Deferred Tax Liability—Noncurrent
$44,000
$50,600


($110,000 ( 0.40) 
($110,000 ( 0.46)

Income Tax Expense—Rate Change

6,600

Deferred Tax Liability—Noncurrent

($50,600 – $44,000)


6,600

16–48.

1.
Tax refund claim is as follows:



Amount of

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income

Tax Rate
Years’ Income Taxes

2003

$31,500
34%

$10,710


2004

21,240
34

7,222
Amount of income tax refund due Columbia

$17,932

(Note:
The operating loss of $86,000 can be carried back only to 2003 and 2004.)

2.
Operating loss carryforward:

($86,000 – $31,500 – $21,240) = $33,260


The expected tax benefit from the $33,260 NOL carryforward would be reported as an asset. It would be valued using the enacted tax rate expected to prevail when the NOL carryforward is used. For example, if the enacted tax rate for all future periods is 30%, the following journal entry would be recorded:

Deferred Tax Asset from NOL Carryforward

9,978

Income Tax Benefit from NOL Carryforward 


9,978

($33,260 ( 0.30)


This deferred tax asset would be reduced by a valuation allowance if it were deemed more likely than not that taxable income in the carryforward period would not be sufficient to fully realize the tax benefit.


The deferred tax asset would be classified current or noncurrent, according to the expected time of its realization.

3.
(a)
Tax refund claim is as follows:



Amount of

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income


Tax Rate

Years’ Income Taxes

2003

$31,500
34%

$10,710


2004

9,500
34

3,230



$41,000

$13,940

Income Tax Refund Receivable

13,940

Income Tax Benefit from NOL Carryback


13,940

16–48.
(Concluded)


(b)




Amount
Amount




Used by
Available



Taxable and Pretax
2005
for 2006


Year

Financial Income

Net Loss
Net Loss

2004

$21,240

$9,500
$
11,740


2005

(41,000)

0

0

2006 operating loss carryback

$
11,740

2006 operating loss carryforward


12,260
2006 total operating loss

$
24,000
829

